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u or Vo (inital velocity) , V (velocity) , a (acceleration)

s (displacement) , t (time) , g=9.8 m / sec* or 980 cm / sec’,

(7 .7 ,K)are aright setof unit vectors .
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If a constant force of magnitude 180 newton
acts upon a body of mass 20 kg for 5 sec
, then the magnitude of the change of the
velocity of the body in the same direction of
the force = ........... m/sec
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q A car starts its motion from rest in a straight | 0 sl o &S, 35l ol
line from a constant point on the straight | Je &0 dai (o wodtae Jas 3
line such that the algebraic measure of its | axd g yod) o)l Jam 5 oz
velocity after time (t) sec is given by the | B3 15U v e dn Lezs o
relation v = (9t2 — 18t)m/sec. Find | US a5l /e (0 A=) =&
each of the average velocity vector and the | de .31y daw gl de ;) anie oy
average velocity of the car during the time | 2.315 21 I3 3,Ll) 2o g2l
interval 0 <t < 4 E>0> .
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ﬂ A smooth ball of mass 16 gm moves in
straight line on a horizontal plane when
its velocity 210 cm/sec. It collides with
another smooth ball at rest of mass 32 gm
If the two balls move after collision as one
body. find the magnitude of the common
velocity of this body just after collision. If
the body moves after collision under the
action of a constant resistance of magnitude
24 gm.wt_ find the distance it travels before
resting.
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q If v =3t—2, then (s) during the time | JM by -y =& 5§ 13

interval [0, 4] equals ........... length unit | ... Gold [£ ] Aell 3,230
Jab 3a>y
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If the two forces F, = 27— 14j and
F, =30+ 2J act upon a body for a time
interval with magnitude % sec, where F}, F,
are measured in newton, then the magnitude
of the impulse of the forces on the body
newton. sec
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ﬂ A body of mass 20 gm falls down from a
height of 40 cm above a pond surface of
water to embed in it for a distance 210 cm
within one second with acceleration
2.1 m/sec® Find the magnitude of the
impulse of water on the body.
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q A body of mass 1% kg is placed on a
horizontal plane to start its motion under
the action of a horizontal force F to cover
a distant of 196 cm in 7 sec against a
constant resistance equivalent to 1—10 of the
body’s weight. find F and the work done by
the force F in joule.
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If a body moves with uniform velocity
under the action of a set of forces:
F,=ai—5]+7k, F,=-3i+bj and
Fy =214+ ck,thena+b+c=......
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If A particle moves on the positive direction
of the x — axis under the action of the force
F = sin 2x newton such that xis measured
in meter, then the work done by this force
on the particle when it moves from X = 7 to
X = %equals ........... joule
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m A car of mass 5 tons moves with uniform
velocity of magnitude 36 km/h ascending
a slope inclined at an angle of sine % to the
horizontal against the resistance equivalent
to 2.5 % of the car’s weight. Find the power
of the engine of the car at this moment in
horse.
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A body of mass 40 gm 1s placed on a rough
plane inclined to the horizontal at an angle
of measure 30°. The body is connected by
a light string passing over a smooth pulley
fixed at the top of the plane and suspends
vertically down to carry a body of mass
120 gm, in its end. If the coefficient of
dynamic friction between the body and the
plane equals %, find the acceleration of the
motion of the system and the magnitude of

the pressure on the axis of the pulley ingm
. WtL.
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m If a body of mass (m) kg moves under
the action of the force: F = 3mi+ 4m7J
such that F is measured in newton, then
the magnitude of the acceleration of the
motion =
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m A body is projected from the top of a
smooth plane of length 20 meter inclined
to the horizontal at an angle of measure 30°
. If the velocity of the body when it reaches
the base of the plane equals 10v2 m/sec
, then its initial velocity equals

m/sec
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E Answer one of the following items:

(a) A zeppelin of mass 560 kg, moves

vertically upwards with a uniform
velocity . If a body of mass 70 kg is
let to fall from the zeppelin, find the
magnitude and the direction of the
acceleration of the zeppelin just after the
fallen of the body

(b) A body of mass 1kg is placed on a

smooth plane inclined to the horizontal
at an angle of measure 30°. If a force
of magnitude 10 newton acts on it in
the direction of the line of the greatest
slope of the plane upwards, find the
acceleration of the motion and the
reaction of the plane on the body.

18

wwyjailledg o

et ) (B RV-F (JENCS PP WP Y
dny (25 0T S oL
Jadu debanie de ey LY L,
A\ cﬁf V- Mr@m
Syoity D1 Aol ool g e

el Dgidn 0 S g2
G075\ S e oy
A e Jep bl 5 52e
ade &3 v Ll Al
o3l 3 e Vo laylude 848
(I S gal) Juo ST Las
Jnb 3)5 3,0l Ame aasl
-M‘&@W‘




wwyjailledg o

19



starts its motion from rest when oo 8,50 ds gemdl Sl 13)

@ In the opposite figure: The system j NUEAIN UGN

the two bodies were in the same Ol OIS u.\.& RPN
horizontal plane, then the vertical Of Ay I § s &
distance between the two bodies after | *#*9[ [ 3°59] L3 s g Al I L)
1 sec equals ........... cm Yooy (e (35 B 450
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m If the power of a machine in (horses) at
any time (t) equals (3t— 1—10t2 ) such that
the time (t) is measured in second , then the
work done by the machine during the time
interval [0, 6] equals

kg.wt.m.
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@ Answer one of the following items:

(a) Abody starts its motion from rest moving

from the top of a slope of length 108
cm that inclined to the horizontal at an
angle of measure 30" against a resistance
equivalent to % the weight of the body
.Find the velocity of the body at the end
of the slope.

(b) A man of mass 72 kg ascends a road

inclined to the horizontal at an angle
of sine % to travel 120 m. Calculate the
change in the potential energy of the
man.
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